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AT [BAHZTH BT B24%17 3H9H 0.13 0.14 0.14
KT [SHRHHET S AHET12E /D3 3H9H 0.18 0.17 0.17
AT |FARZ=TH BER — T H5063thdD2 3H8H 0.20 0.22 0.24
AF |BRATH B AT B159%11 3H9H 0.24 0.23 0.22
AT |FARANTHE BERL7NT B338F 11 3H9H 0.14 0.13 0.14
A BT B2 [FRNT B112E4 3H9H 0.15 0.13 0.14
AT (FARNTEZE3 (RN T H2018E17 3H9H 0.15 0.14 0.14
K |BE FEF36%E26 3A7H 0.10 0.11 0.10
KT |1/ K FHE ./ R91FE14 3H8H 0.08 0.08 0.08
KT |[ABAKZTH AKX _TBH100%E1 3A7H 0.18 0.17 0.17
T |ABKR=TH ABK=T B168FEH D10 387H 0.14 0.15 0.15
AT |ABAX=THSE3 [RBAX=TH116T17 3A7H 0.17 0.16 0.17
AT |(ABXK=THF4 [ABX=THI114F14 387H 0.15 0.15 0.13
AT |ABAK=THSES ([ABKX=TH78%4 3A7H 0.14 0.13 0.14
KT |ABKNTH ABBAKIMT B9ZE2 3H7H 0.13 0.13 0.12
KT |ABKMNTEHE2 [ABKMNTH199E7 3A7H 0.24 0.20 0.18
AT |AGKMUT HES | ABARMT B221%5 3A7H 0.13 0.13 0.14
KT |ABXKRATH ABKATB111ERD3IT 3A7H 0.24 0.17 0.16
KT |[AEBXKATHSE? (AEXKATH110%E3 387H 0.16 0.17 0.17
KT |[ABKATBEES | ABKATH16635 3A7H 0.21 0.17 0.16
AT |ABRKITH ABHKANT B1515H D8 387H 0.11 0.11 0.12
AT |ABKNTEHE2 [ABXKNTH104F19 3A7H 0.10 0.11 0.12
T |ZH—TH Z%—T H90&28 3H9H 0.13 0.13 0.12
T |ZEFNTH FZHMMT H3985 3H9H 0.20 0.21 0.20
XT [/NRH—TH INEEH—T B403%2 3H8H 0.19 0.20 0.19
XF [/NERHEATH INERAET B56822 3A7H 0.11 0.12 0.12
KT [FIEEE FIREE61E /D32 387H 0.18 0.17 0.16
KT [FRB=TH FAR="T B500%ith 3A7H 0.27 0.26 0.23
AT (BXH BXEH - T H56F /D17 3H8H 0.12 0.12 0.13
KT [t#AZTH WARZ T B340 22 3H9H 0.26 0.25 0.25
AT (HAZTHSE2 [t¥KRZTH34%E13 3H9H 0.22 0.19 0.20
A |EREIHhEEL 217735 M 3H9H 0.14 0.13 0.13
KT |EREHhEE2 E3ET546 5 M 3H9H 0.14 0.14 0.13
KT |EREIHmEES ERHT34E15 3H9H 0.19 0.18 0.18
KT |FRET E5HT1880FEH D4 3H9H 0.14 0.13 0.13
KT |ERETEE2 E5M]165%515 3H9H 0.16 0.15 0.15
KT [TERER BR52%20 3H8H 0.11 0.12 0.11
KT (BBFI—TH BBF1—T B20%&12 3H8H 0.28 0.22 0.21
AT |BII=TH BRF1—T H92%3 3H8H 0.11 0.12 0.12
AF [BI=TEZ2 |[BfM=-TE118&HMn7 3H8H 0.11 0.11 0.11
XT |[8%F—TH BH—T B437E /D26 3H8H 0.13 0.14 0.15
AT |BFZTE BT H6e7&EMM22 3H9H 0.20 0.19 0.19
KT (BFZTHEZE2 (BT H243&FEHD17 3H9H 0.17 0.16 0.16
AF ([BFZTHSE3 |[BF”"THI143%Es8 3H9H 0.14 0.13 0.13
KT |[BF-TEBZ4 |SH_THBH164%F4 389H 0.17 0.15 0.15
A |FEH FAFH1557 3A7H 0.12 0.12 0.12
KT R Rzl 3H9H 0.17 0.16 0.15
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KT |RpEE2 FEh12%E8 3H9H 0.18 0.16 0.17
A |BL—TH BL—THN1ES 3H8H 0.23 0.24 0.23
XT [FRHE FEHE 18T’ D9 3H8H 0.11 0.11 0.11
Z N H)111487 3H8H 0.13 0.12 0.12
KT [#RET #RET98%516 3H9H 0.16 0.15 0.15
A KRB kR EB5286 3H9H 0.23 0.20 0.20
AT | LU LLIE305Z D76 387H 0.12 0.12 0.11
AfF |#EE—TH WIF—T BH14254 3A8H 0.13 0.12 0.14
K |[#ERZTHSEL |[#ERZTB45%12 3H8H 0.14 0.14 0.14
AfF |#EEATH IR H T B301%4 3H8H 0.10 0.10 0.09
E@ |[Ltos EMRETF E/ A59F D39 3H3H 0.12 0.13 0.13
EH |[KB#0 EHEIFEAEFIZ3E D3 3H2H 0.18 0.18 0.19
ZEH (B3 EHEFER76E D9 3H2H 0.14 0.13 0.13
EH (B85 EHEFE K2 1D19 3H2H 0.17 0.16 0.16
EH [Si8%E3 EHEIFE L8216 3H2H 0.25 0.24 0.23
EH [LREB = HE]F LRB36E D6 3H3H 0.16 0.17 0.18
EH |[LRBE3 EHETF ERB42%F D3 3H3H 0.12 0.12 0.11
EH [KREL EHETFAZE 168D 1 3H3H 0.12 0.11 0.10
2l |@tdt = HETFdthdb458 0D 149 382H 0.16 0.16 0.15
EH [FithisE2 = HETF¥ 54k 478559 3H2H 0.14 0.14 0.13
EH [@EithdtsEs = HETF¥5th 14585238 3H2H 0.15 0.16 0.16
EH [BAR EHEFRARLIF D12 3H3H 0.18 0.17 0.16
ER | THRE EREF TRE2189 3H3H 0.17 0.18 0.19
EH |[LRB%2 = HEIF E7RB34-48 3H3H 0.11 0.10 0.10
EH [T=2H = HE]FE TEH23%18 3H2H 0.30 0.30 0.29
= (EME) TAHA |EMEETF TrAEH6ERD6 3A7H 0.17 0.17 0.16
= =) Tramss2|=EHEIFE FraH34%E3 3A7H 0.19 0.18 0.18
EH |[TrEEES = HE]F T raH47ELL 3A7H 0.15 0.16 0.17
2 TrAHZE4 EHETF TAE7EL2 3/7H 0.17 0.17 0.16
EH |[FrEESES = HETF T FamH56258 3A7H 0.19 0.19 0.20
EH | TramEEe EHETF TAE14%EL7 3/7H 0.15 0.15 0.16
=EH |[TrEEE7 = HETF T FaH11%23 3A7H 0.12 0.11 0.11
2 TFaHEES EHETF T FHE24%E4 3/7H 0.16 0.16 0.17
ER |KTHEL EHRFA+R43%26 3A7H 0.13 0.14 0.15
ER | KTHEE2 ERETFA+H85E D276 387H 0.12 0.12 0.12
EH [KTHWES EHEFATMN60E14 3A7H 0.15 0.16 0.16
EH [KTH%E4 = HE]F A+ R82833 3A7H 0.17 0.18 0.19
EH [KTHE5 = HETF A 1+M85%334 3A7H 0.11 0.12 0.12
EH |[KfEE = HBE]FATERI198548 3A7H 0.21 0.22 0.23
EH |[KiEREH2 = HE]FAfERI10843 3A7H 0.14 0.15 0.15
=l (s = e FEER32E (18 3A7H 0.14 0.14 0.13
EH |[fErmH2 = HETFEERI61-20 3A7H 0.14 0.15 0.16
=Ml (B /[ EHETF1E / E23&Fth 17 3H3H 0.13 0.12 0.11
EH (1B Es2 = AR J fE72814 3H3H 0.21 0.21 0.22
=Ml [EEFH EHETFEEIFH3E D11 | 383H 0.13 0.14 0.14
=M |#EiFHEE2 = HETF#eiFH 18852 387H 0.16 0.17 0.17
EH [Kk EHEFXR 625 D12 3H2H 0.19 0.19 0.18
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EH [RtsE2 = HE]F X iR6e55Hth 722 3H2H 0.47 0.37 0.30
B RHEIMEE3 EHETFR 15821 3H2H 0.31 0.29 0.28
EH [RtamsEs = HBE]F X 158539 3H2H 0.17 0.16 0.15
EH [KtHE EHEFXR AR 1IE D11 3H3H 0.15 0.14 0.14
EH [FARSE4 EHE]FFARIMEL6 3H2H 0.16 0.15 0.15
EH [EHLEARZEL |(EREIFLEA1IIERD9 3A7H 0.14 0.13 0.14
EH |EHLZEHZE2 |EHETF EEHE3EFL 387H 0.13 0.13 0.14
EH (EHEitE = HETFAtm80&E 13 3H2H 0.11 0.11 0.10
= EHTEH ERETF TEH20%E14 3H2H 0.19 0.20 0.21
EH [EFH EHEFEFM1FE# D36 3H3H 0.17 0.18 0.19
EH [SFEHE?2 EHRTF2FEM13%E47 3H3H 0.18 0.19 0.18
=M [#H = HETFHEssEHHh 721 3H2H 0.15 0.16 0.16
EH |[[E = RETFEEES0E D 10 387H 0.17 0.17 0.18
EH [EATF EHE]FH AR T4583 3H2H 0.17 0.16 0.16
EH [BEARTH2 EHEIFEAT49E4 3H2H 0.16 0.15 0.15
A (AL AHIET 4111355516 2H26H 0.21 0.22 0.23
A# |tELLZE2 AHABTFHALLI37E64 2H26H 0.11 0.12 0.12
At | EFEE AHRET = PR 22 & )18 2H29H 0.10 0.10 0.11
A | EFEEE?2 AHABT = _EFRAS5E )28 3H1H 0.14 0.13 0.14
AH | EFEESES AHRETF 528 )35 381H 0.11 0.11 0.13
A | EFEEE4 AHRET = _EPIH66516 3H1H 0.13 0.14 0.14
AH | EFEESES AHAETF L FEFHS-11 381H 0.13 0.14 0.13
A# | LFEEEE6 AHRETF_EFEH1E4 3B1H 0.15 0.16 0.16
v G AHRET ) | |24 E Hh D4 2H26H 0.12 0.11 0.12
A# |AtH AHRBT At 26 & )12 2H26H 0.11 0.12 0.14
AH [dbEZE2 AHRET 4L 55810 2H26H 0.14 0.12 0.11
A |AEF AWETF At 228527 2H26H 0.14 0.14 0.15
A |{EIETER AHRET AT ER51F Hh D 14 3H1H 0.13 0.12 0.11
AH |EETEREE2 AHABT F RT3 F Hh D33 3H1H 0.14 0.14 0.13
AHE |fENETEREES AHRE] BT ER75F D6 3H1H 0.13 0.14 0.15
AR | (K#R) TFHE | AHETF FEERE42E 010 2H29H 0.11 0.12 0.11
AR | (AMD) TPEHE2|AHaE = FFaH93E9 2H29H 0.17 0.19 0.20
AW | FEM AT T ER208526 2H26H 0.25 0.24 0.23
AH |/ A AHBET =4/ 445510 2H26H 0.22 0.18 0.12
AW |EH AHBIFEMH40F DS 2H26H 0.26 0.19 0.17
A |7kP9ER AHBET =K PIER1052 3H1H 0.09 0.10 0.09
AW |RIEHEH AHIETF R IF 1828 )33 2829H 0.12 0.12 0.13
A | I AHBET =+ M63%10 2H26H 0.10 0.10 0.10
AR |/ FE AMET=Ph /) 374814 2H26H 0.16 0.16 0.16
AH |/ FEE AHRET R/ rgse &t 11 2H26H 0.13 0.12 0.13
AW |t AHRETFopif 7812 2H26H 0.13 0.13 0.12
A | ZAK AHBBT = AA20516 2H26H 0.20 0.19 0.20
AR |FE/ = AHAET P/ = Fas3& )17 2H26H 0.14 0.14 0.14
A |FE/ =FEEE2 AHIE]EFE ./ =FE128515 2H26H 0.14 0.13 0.13
AW |TEEm AMREI i1 T 1L 3H1H 0.12 0.13 0.13
AW |HEEE AP 48 FH 28 F (D30 2H26H 0.10 0.09 0.10
AW |RH AR RA39 & D31 2829H 0.32 0.20 0.19
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AW |REHZE2 AHETFERELE20 2H29H 0.13 0.14 0.14
A |REHE AT RS 15 3H1H 0.18 0.18 0.17
AW |[REE AW FRHREIETL 2H29H 0.13 0.13 0.14
AW (REERSE2 AHE]FREEE1385144 2H29H 0.10 0.10 0.11
AH |FRERSE3 AHABT = R B 10549 2H29H 0.13 0.13 0.13
AH |EAE AR ERAAL34510 3H1H 0.11 0.11 0.11
AW |REBET AW RHAI3ELS 2H29H 0.20 0.18 0.18
A |REFAESEL AHABT PR FE36 5 M)36 381H 0.14 0.15 0.16
A |FREFESE?2 AHRET R T4 H D51 3H1H 0.17 0.17 0.16
A# |RAR AHRRT FIREAR 11T D6 3H1H 0.14 0.14 0.13
A [sRA%EE2 AMIETFoRAROEE18 3H1H 0.19 0.19 0.18
A [SREZEE3 AT FPeRRE3E57 A 381H 0.13 0.14 0.14
AH|3HEAEEE2 AHRET et 4 33T M D8 2H29H 0.11 0.11 0.11
AW |EERTH AR RIA748E21 2H29H 0.15 0.13 0.12
AHE |EHERTHEE2 AHAB]F i+ A HTH129F D 1 2H29H 0.16 0.15 0.15
AH |EERTEHEES AHBT 8t £ BTH29E D5 2829H 0.12 0.12 0.11
A |#HEERTAE4 AHBET 8t 4 HTEH60E526 2829H 0.23 0.22 0.20
A |3HEm AHRET 1 45120851 2829H 0.14 0.15 0.16
A [ERFEIRXA AHRBT P ERAT B R 1348 19 3H1H 0.14 0.14 0.15
A |FREIEAE2 AHABTFERIT R R 90& D4 381H 0.14 0.16 0.17
AW |IGHT AHRET = ABT54811 2826H 0.11 0.10 0.10
At |=viB AHIETF ="V 188528 3H1H 0.14 0.14 0.14
A |E/K AHETEEE ) AR9THh D4 2829H 0.11 0.11 0.12
A |E/KE AHRE]FE J ARE17ES5 2H29H 0.12 0.13 0.12
A |3RN\ithde AHBET =3 \ithdb 1813 2829H 0.13 0.14 0.15
A 7B AHRRT 7 18 D51 2826H 0.10 0.10 0.10
7 I VAV-:E V) AHBET 756 D3 2826H 0.13 0.13 0.13
A |7 Al AR/ 131819 2H26H 0.11 0.12 0.13
TiE | R1EKEEERAD fE)I| =T BH127%8 3H2H 0.12 0.11 0.11
TiE | RAREL ZRITEHFAAR4E D107 3H2H 0.11 0.11 0.11
ZE | RAREE2 ZRITHFT AR Re6F D27 382H 0.13 0.13 0.12
TiE | RARES TREIIMHFAARL4EL94 382H 0.15 0.14 0.14
T | AARSE4 ZIEBI AT AARLI4E242 3H2H 0.14 0.14 0.13
ZIE |fERR IR R FER61E D20 | 382H 0.16 0.16 0.15
=& |fER%EE2 ZiEl] A FHERL 8 E 131 3H2H 0.17 0.17 0.16
ZiE |dLKEB R RHFILRESRsE D26 382H 0.12 0.12 0.12
ZiE |#EII—TH fi£)||—T B 18475 3H2H 0.11 0.12 0.12
ZiE |4=1 R EHTLeE 278147 3828 0.09 0.09 0.10
Zi& |t ZIEETH LT —A188E1 3H2H 0.10 0.11 0.11
e |F/% IR HFTF /%156 3H2H 0.16 0.15 0.15
Zi& |ARAR =BT | FAEEARI4E D22 3828 0.12 0.12 0.12
ZiE |ARARSE?2 TZIEIE) | FARAGFRLIELS 382H 0.16 0.16 0.17
Zi& |RILHIL ZiElT A TR IL48E35 3H2H 0.16 0.16 0.15
& |hiE B RHFEAEE D11 | 3H2H 0.14 0.13 0.13
ZiE |hiBss2 TIER AT h B4 /D2 3H2H 0.14 0.14 0.13
=RM|=FEAEL =TEMETR L FBAEE6EL| 2824H 0.16 0.15 0.16
=#MA|=EAHLO =FEMETIOFEKINE 2825H 0.13 0.12 0.13
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EE |TNFER EHR AT EE 1305 H 3H3H 0.11 0.11 0.11
R | REWN AR ohET 1182 3H3H 0.11 0.11 0.11
R¥ | KA FIFETFALR1845 3H3H 0.19 0.18 0.18
R |FFehH] AR ohET 1181 3H3H 0.11 0.11 0.12
¥ [FhiEREL AR #iEiR 86854 3H3H 0.12 0.11 0.11
F¥ |FriExResE2 A PR3 i%1R 1068520 3H3H 0.12 0.12 0.12
¥ |FhiEREEs AR #iER 1108539 3H3H 0.12 0.13 0.12
R |HERHREL FIFET e E /D18 3H3H 0.15 0.14 0.14
R |HEERREE2 B IR HEERR 225108 3H3H 0.18 0.17 0.18
R |HEEFRES R FHER2E121 3H3H 0.13 0.12 0.12
¥ |HEBR AR B 3EE47 3H3H 0.15 0.14 0.14
EAA|TED EXHETFIREETEET3 2H26H 0.17 0.15 0.14
EXZA| B2 E AR FIREE3EES7 2826H 0.12 0.13 0.13
EXA|BEES E X HETFN N 33FH D5 2H26H 0.15 0.13 0.14
EXAH|BMEES SAHETFA / AREM D160 2H26H 0.13 0.13 0.13
EAA|IA /A EXHETFA / K38E 169 2H26H 0.14 0.14 0.13
EXA|A /A2 EXAHETFFARISE2S 2826H 0.15 0.16 0.15
EXAHEIA/AE3 EZMETECHNF EXH42EEL6| 2H26H 0.14 0.15 0.14
EAH| LEi EXMBIF L EMHh5185250 2H26H 0.17 0.16 0.17
EAH| LEithEE2 EXHETFALL19TEH D45 2H26H 0.18 0.17 0.16
EXA|ERM =X HETFIY-+1B5&#hD 70 2825H 0.40 0.32 0.28
E2M|M+18 E X AETFIY+1B53F147 2H26H 0.17 0.16 0.16
EXA|M+1852 EXAHEFFARLTEGS 2826H 0.17 0.16 0.16
E2H|M+185E3 EXHETFIREE 7838 2H26H 0.23 0.21 0.19
EXA|M+1E5E4 =2 HETFIY 1858160 2826H 0.24 0.16 0.16
EXH|TEH EXAHRIFERE 238220 2H24H 0.14 0.13 0.12
EXAH|EEhEEL EXAHETFIREE1E566 2826H 0.14 0.13 0.13
EXH|EEithEE2 E X HETF 7 fE17860 2H25H 0.14 0.15 0.15
EXH|EEhEES EXHETFY+1E1815 2826H 0.10 0.10 0.11
EXAR|FAR EXHIFEFEB21&E D41 | 2H26H 0.16 0.15 0.15
EA@A[FAGFRE? EXAHIIFEF h22FE D408 2H26H 0.12 0.11 0.11
EAH|FARES EXHETFHEREMI9BH D19 | 2826H 0.14 0.13 0.13
EAH|MX AR FEILERES7E61 2H26H 0.11 0.11 0.11
E2A|FIHLR EXHETFA / KN38EH D107 2826H 0.17 0.16 0.15
EXH|ATILEREE2 EXAHETFFAIRISES 2826H 0.30 0.20 0.19
EZ@|ALL E X HETFRTILERS7E 164 2H26H 0.12 0.12 0.11
EAH |y 1E EXHETF L Eiths1F#b183| 2825H 0.13 0.12 0.12
BAMA|EEB HiNAITFeAHB43E D36 | 384H 0.16 0.15 0.15
BA0M |EHH1BEE2 HFNHET =81 51834760 3H4H 0.12 0.13 0.13
BHfA|[AROR BRI SATAOEIE D209 384H 0.12 0.12 0.11
BAA|AORSE2 A SaTAOEsED3ss] 3548 0.23 0.22 0.23
BAA|AORES AASaTAORsED414] 3548 0.16 0.15 0.15
BA0ME |HF0HETE HINHAET =/ \E6oF 3H4H 0.14 0.13 0.13
BEAL|AE EALBARBAFHE99-9 3H2H 0.11 0.10 0.10
EAL|GESE?2 EALBARBAFAHE105-3 3H2H 0.11 0.11 0.12
EAUL|AE5E3 EALBIARAFHE106-14 | 3H2H 0.12 0.12 0.12
ZEALL|—=iFHE EXLBTREF—}iFMH17E20| 3H2H 0.25 0.22 0.22
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EAUL|RIEF EALRRFRIFIOFEDS0| 3H1H 0.22 0.21 0.22
EALL|RIEEE2 EAILBRREF RIG28EF1 3H1H 0.17 0.16 0.15
EAL|KER BRI ARAFAR20E DI 2529H 0.11 0.12 0.13
BEAU|ARREE2 EALLBARAFARELS | 2H29H 0.14 0.13 0.12
=AM /5 SA LT ZRAZME /#8959 | 382H 0.15 0.15 0.16
EALLEAR EABIRREFEBIES0 3H2H 0.12 0.12 0.11
EYIMESZEY) EAILBTREREFER9-10 382H 0.10 0.11 0.11
BEAUL|EBES EAILBIBEEREFEE30-5 3H2H 0.12 0.11 0.12
EZIMESZET EALLITREREFEE33-40 382H 0.11 0.11 0.10
=AU | R} EH EXLBERF R FH 757 3H2H 0.16 0.16 0.15
=AU|1BH B2 ILEERTIEH63E D4 382H 0.27 0.26 0.27
=AU |FES EABERF 5217822 3H2H 0.17 0.17 0.16
=AU (RS EXBTERFEE 79512 3H2H 0.14 0.14 0.13
EALL |53 EALLBTERF 535839 3H2H 0.11 0.12 0.12
=AU (RS =X ERFES21585 3H2H 0.14 0.14 0.15
EALL | S EES EALLBTERF 5202815 3H2H 0.14 0.13 0.14
RN EALBERFHBAL1LE D4 382H 0.16 0.16 0.15
EALL | it =2 LBTAEETER19Ens | 382H 0.17 0.16 0.15
B AL | AETE EABTERFAMAILETS 3H1H 0.14 0.15 0.15
=N EALRRFE@A7EL 3H1H 0.15 0.16 0.16
=EAL|EE =X ERERTEB24%13 3H1H 0.13 0.13 0.14
EALA EALBERFE T16E D7 3H1H 0.15 0.15 0.16
EALL[BTE? =EALLBRRTE 4285 3H1H 0.14 0.15 0.15
=1L |58 E AL X RHEF L2856 3H2H 0.12 0.12 0.12
= s =L N\LBFFM#eEoso | 3H1H 0.17 0.14 0.15
EALL | FiFkEE2 = A LB\ EF a6 3593 3H1H 0.14 0.14 0.13
=1L |#1H =BT A REFETH25813 382H 0.12 0.13 0.12
AL |FIET EABTERFHI1T 10810 3H2H 0.12 0.12 0.11
=N GIE Y EALBTERFET 981 3H2H 0.14 0.14 0.15
EALL |45 =2 LBT A IRET MR 3sE 45| 28 29H 0.15 0.16 0.15
AL |2 = A LLBT A REF 69816 2H29H 0.13 0.14 0.14
EALL | i8S EALLB] ZARAF 27823 2829H 0.11 0.11 0.12
=AE/ E EALBERTE / E6E5 3H2H 0.11 0.11 0.12
R |meozazr.—wys— [HIRTETAEEE55-1DA 28 25H 0.07 0.07 0.07
I #EETE) || 155 3H3H 0.09 0.09 0.08
Bt &R HENETSET || 2655 3A7H 0.08 0.08 0.08
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